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s | mERAL % KA RAFS| 4 | B B RS
1 | B 80E B -RKAET (5 (o1 R %o 72.99
2 |z ZRalE (B 1-RArL (59) |01 g % | 64.13
3 | =i (HRAr2-kAL1L (55D (02 =1 % | 86.87
4 | mh i |W2-AL L (9D |02 EZXIL| 5 | 85.79
5  |&rhid - AL () 02 GRS g | 83.87
6 |zl [PA2-KArL (55) (02 B 95 | 78.13
7 |zl (R 2- AL (55) (02 TEHT 9 | 65.38
8 | = iE (HRAr2- AL (55D (02 FR5e| Y | 65.24
9 | =i (HRAr2-kALL (55D (02 AL | 5 | 63.97
10 |zl |G 2-R4r L (55) (02 skarss [ 5 | 62.48
11 |zl | 2-Rfr2 (o) |03 T % | 91.28
12 |z [ Be-pfe (&) |03 FRUTTE | A | 89.2
13 |zl | 2-Kfr2 (o) |03 SR | 22 | 85.37
14 |zl | 2- K42 (o) |03 WwikE | 2| 83.81
15 |zl |G 2- 2 (o) |03 Z= % | 82.87
16 |zl |G 2- K2 (o) |03 e | L | 77.01
17 |zl | 2- 2 (o) |03 KW | 2o | 74.24
18 |zl | 2- {2 (o) |03 H&A | 2| 71.85
19 |zl | 2- K42 (o) |03 EZFHY | & | 70.2
20 | =rpE (HRA2- A2 (22D |03 X | 2o | 69.72
21 | = vhE (HRA3-if 1 (55D |04 FHERN | B | 82.06
22 | = PhHTE (A3 AL (55D |04 wiEr | 5 | 75.04
23 |=vutiiE (I 3-frL (95) (04 KMV | 5 | 72.24
24 | putiiE [ 3-fr1 (95) (04 M| % | 70.89
25 = putiiE [HAfr3-fr (93) (04 ZEE | Y | 69.62
26 = putiiE (A 3-fr1 (95) (04 Mt | 95 | 62.68
27 | =vutiyiE [HAfr3-frl (95) (04 FAEE | Y | 61.86
28 = putiiE [HAfr3-frl (95) (04 VRRCR | 9 | 61.71
29 = utiiE [ 3-fr (95) (04 WX T | Y | 59.26
30 |z pufkE |G 3- K72 () |05 XEER | 2 | 86.95
31 | = pufkiE | 3- K72 (%) |05 i & | 82.98
32 =7 B 3-A72 (&) |05 el | %« 82. 8
33 | mitufiE |ERAL 372 (Zg) (05 5/ & | 7757
34 | = pufE | W3- K72 (%) |05 FAEE | Lo | 75.66
35 | mitfiE |HRAL3-f72 (Zg) (05 x| 4 | 7517
36 |z pufE | W3- K72 (%) |05 AR | 2| 72,34
37 | =V [P 3-A2 (%) [05 XIHERE | % | 71.19




38 | mVuIE |RA3-Kfz2 (o) (05 T % | 70.63
39 =PI | W 3-xif2 (&) [05 LI | & | 66.02
40 | A PUETIE |BU 342 (40 |05 T % | 63.49
41 (52 |B4-KAr1 (53) [06 gk % | 86.87
42 (52 |W4-KAr1 (53) [06 b % | 85.45
43 [ 2 |W4-KAr1 (53) [06 TR | % | 83.95
44 [x e 2 | 4-Ar1 (J3) [06 T %o 79.63
45 RS |BRAL4-A21 () |06 PMERE | B | 70037
46 (52 | 4-Ar1 (53) |06 FRER | Y5 | 70.35
47 (52 | 4-AL (53) (06 +%& 5| 70.28
48 [ 5 eE2 | 4-Ar1 (53) [06 R % | 70.08
49 I ZKE S |BRAL4-HAL1 () |06 vkl | 5 | 68. 54
50 [ Z |WU4-i46i1 (55) |06 2= 3| 67.72
51 [Z 2 |WUi4-ifi1 (55) |06 HEE | 5 | 66.09
52 (&S |[WU4-i461 (55) |06 e % | 64.55
53 [ZKEZ |WUi4-i461 (55) |06 M| Y | 64.39
54 |fx&EZ |B A1 (53) |06 B« | B | 64.03
55 (%K |BUv4-i46i1 (55) |06 5 5| 61.9
56 |fixt:Z |BA-K61 (53) |06 Tkl 5| 61.47
57 %2 |BUi4-ihi2 () |07 I 15E % | 89.53
58 (%2 |BU4-ihi2 (%) |07 FRK % | 88.12
59  [ZKEZ |BU4-ih2 () |07 = % | 79.56
60 |fTZEE S |B4-Ar2 (L) |07 ke | 4 | 70,97
61 xS [If4-Kif2 () |07 WA | | 68.83
62 xS [INi4-Kif62 () |07 PR | 2o | 67.84
63 | EE S |B4-Ar2 (o) |07 | | 67.35
64 [t Z [IAfr4-Kfr2 () |07 X% 7 | 66.72
65 [t S [HAfr4-fr2 () |07 S % | 65.76
66 |fTZKEE S |B4-Ar2 (o) |07 Ik 4 | 64.98
67 xS |BU4-A2 (o) |07 HWiEE | & | 64.66
68 [ EE S [HAfr4-Kfr2 () |07 K K| % | 63.84
69 |[fTZKEE S |Bi4-Ar2 (o) |07 Zhkai | o | 63.63
70 (g tE 2 \Bi4-Ar2 (o) |07 i 4 | 62.97
71 [ REEELIMS-HArL (55) (08 XEdE | Y5 | 73.84
72 [ REAEBWMS-RAL (55 (08 sKIEMG | Y | 63.74
73 [ REAEE (WS- (5D (08 moa | B | 60.39
74 | REAEE|BUS-A2 (o) |09 sRMifE | & | 66.56
75 [ REAEB(BUS-A2 () |09 ik 4 | 64.27
76 [REAEBLIMS-KA2 () |09 JOWNER | 2o | 63.42
77 [FxE 2 (BT (5D (10 YA 5| 89.03




78 |FiKd 2 [HAA6-xiAi1 (55) |10 fkEM | 5 | 85.87
79 PHix g [IAr6-xifr1 (53) |10 HRSC [ 5 | 84.45
80 B bd 2 |[Whr6-Kfr1 (55) |10 JalEEd | 9 | 84.2
8l HixldZ |Wr6-xifil (55) |10 S %] 82.65
82  HixldZ |W6-xifil (53 |10 A4t %] 82.03
83 |Brxbd 2 |[Whr6-Kfr1 (55) |10 skeA | 5| 80.65
84  Bixbd 2 |[Whr6-Kfr1 (55) |10 Pl | 5 | 79.62
85 HiZxld 2 |Wr6-ifhil (55) |10 OO | Y | 78.63
86 Bzl Z |A6-xfr1 () |10 AR | B | 78.04
87 Wiz % |A6-fr1 () |10 MRZess | 3| 77.29
88 Hixld 2 |Wr6-=ifrl (55) |10 uRE | % | 76.63
89  HixldZ |Wr6-ifil (55) |10 2= B 72.37
90 [HrxldZ |[Pre-=ifhil (55) |10 sKEEAN | Y | 68.93
91 PHixldZ |Wr6-ifil (55) |10 W % | 68.46
92 HixldZ W61 (55) |10 fiziE | 9 | 68.28
93  [HixKlEZ |61 (5D |10 WM | B | 66.4
9  |FixlEZ |BA6-KA1 (53) |10 H 5| 66.28
95  |Bix S |[Be-kAr1 (55 |10 ZEERAE | 59 | 65.8
96 [Hixld 2 |[BU6-if2 () |11 X | 2 | 89.87
97  HixldZ P62 () |11 SR 2o | 89.03
98 [HixKldZ |H6-xifr2 () |11 WA | & | 82.2
9 |FixlEZ |[B6-Ki2 (&) |11 demeft | & | 81.62
100 |Hrxld 2 Wz 6-ifi2 () |11 PR % | 77.81
101 |BrxlE 2 [Bfr6-fr2 (&) (11 SEEpe | | 75.34
102 [Hixld 2 |Bh6-xifi2 () |11 Bk 4 | 75.01
103 |Hrxld 2 |Bif6-Kfi2 (&) (11 At | Ao | 7218
104 |Hrxld 2 |Bf6-Kf2 (&) (11 | | 72,1
105 |Hrxld % |Bif6-Kf2 (&) (11 | | 71.35
106 | Hrxld 2 |Bif6-Kf2 (&) (11 MIBE | & | 711
107 [HiZld 2 |B6-=ifi2 (22 |11 JAZE | 2 | 70.84
108 | Hrxld 2 |Bf6-Kfi2 (&) (11 F—F| Z | 70.02
109 |HrxldZ [Bf6-Kfi2 (&) (11 sKIER | 4 | 69.54
110 |Hrxld 2 [Bif6-Kf2 (&) (11 k| 2| 69.35
111 |HxE 2 [B6-K2 (&) (11 RIS 2| 68.35
112 |Hixld 2 [Bf6-Ki2 (&) (11 138 & | 67.78
113 |Hixld 2 [Bf6-Kf2 (&) (11 YT % | 67.53
114 |Hixld 2 [B6-Ka2 (&) (11 A= % | 67.5
115 | HixE 2 |BRAie-ifi2 (o) (11 k| 4 | 66.43
116 | Hix 2 |Bfie-ifi2 (o) (11 ey | 4 | 66.2
117 xR 2 |BAie-ifi2 (o) (11 Ew | & | 65.69




118 |Gyt | 7-pfr () |12 SR | 55 | 86.95
119 | Gxybeit | 7Rl () |12 e | U | 86.37
120 @f/"‘«xﬁ%ﬁ B 7-FRIL () |12 Wil | %5 | 86.2
121 (VP WEE [ HRAE7-RA1 () |12 EZE| 5 | 715
122 | Gyb s [ 7-pa gl (3 |12 RocT | U | 72,42
123 (&ybMEsE |2 7471 (559) (12 SR | 5| 71.94
124 |Gyt | 7-pfr () |12 v | % | 70.94
125 |y (R T-RA 1 (59D (12 X 9% | 70.62
126 Gy WEEL [ HRAET- A1 () |12 S| 5| 69.95
127 |G yPWEET | BT () |12 EEAR [ 5| 69.72
128 j‘zY’/l“{Xﬁ%ﬁ\ B T-ifrl () |12 FRE| 9| er.61
129 | evbE Bt (ATl () |12 S | 5 | 64.78
130 |VPMBT [ 7-R AL (D) |12 TR 5| 64.24
131 |G | TR (F5) |12 B | % | 62.88
132 |V MBT [ 7-R 0L (D) |12 i | % | 61.35
133 [ Erb i [V T- 2 (4O |13 AR | S | 84.45
134 |Gy IR T-if72 (20 (13 X1 B ES 74

135 | Gyb BT (U 7-d 2 (&) |13 £ XL | 72.6
136 iw/lwxﬁ%,é U 7-Rifr2 (o) |13 R | % | 70.99
137 |G VbW | IR T- 2 (£ |13 kR 2| 70.76
138 |G VDWEE |72 (£ |13 1S 2 | 70.29
139 | & VPWEE | IR T- (2 (£ |13 Tk | 69.96
140 |G vDWEE | BT (2 (£ |13 A Hi | 69.68
141 |Gy IR -2 (o) (13 PEMBL | % | 69.35
142 |G yPWEE | IR T2 (£ |13 ARG | | 68.77
143 %/'\{X’ﬁ,ﬁ P 7-pafr2 () |13 5 X | 68.34
144 |G ybWEeat |G 7T-i72 (2o |13 KA | 67.59
145 [yt U 7-Rif2 (&) |13 5K %k X | 67.38
146 [GybMest (BN 7-Kifr2 (o) [13 JWRAE | L | 66.75
147 [GybMest [N 7-Kifr2 (o) (13 DS | & | 65.68
148 |G ybWEET | 7T-ih72 (2o |13 R | & | 65.32
149 |G ybWEET | 772 (2o |13 XEFEE | | 64.03
150 |Gy DuEET | 7T-if72 (4o |13 XMk | % | 63.53
151 |G yDuEE | 7T-p 72 (o) |13 i | 63.47
152 |5EMS  |BUr8-pkrl () |14 FREESS | T | 85.45
153 |5EMS  |BUr8-pkrl () |14 didkE% | i | 80.79
154 |5EMS  |BUr8-RArL () |14 ARE ) 5 | 80.04
155 [EAng  |BUrs-Rifrl () |14 SRS [ 55 | 75.36
156 [EAs  |BUrs-Rifrl (B) |14 s Y | 74.58
157 [EAng  |BUrs-Rifr1 () |14 B Y | 712.2




158 |DEAlS  |RAS-ifrl (B (14 AR gl 71,23
159 [Efg  |WUu8-ifil (59) (14 S| 9| 69.29
160 [cEfz  |WUU8-ifil (59) (14 TrE| % | 68.95
161 |2Efz |IRf8-Kfz1 (59D (14 TrEF| 5 | 67.27
162 |DEA1S  |RAS-iifrl (B (14 v gl 65,11
163 [Efg  |WUu8-ifil (5)) (14 JIRX| % | 63.82
164 [Efs  |WU8-Xifil (59) (14 R % | 63.32
165 [oEfg  |WUu8-ifil (59) (14 k| 5 | 63.19
166 |oEA1Z  |RAS-iifrl (B (14 w5 63,02
167 [Efs (W8l (59) (14 WA Y| 62.85
168 [cEfg  |WUu8-ifil (59) (14 Wi Bl 62.1
169 [Efg  |WUu8-ifil (59) (14 ik T® 5| 61.32
170 [efs  |WU8-ifi2 (L&) |15 s | 2 | 76.88
171 e |BU8-ifi2 (L&) |15 HisE % | 70.08
172 |5ef%  |BU8-Kfi2 (L&) |15 KM | | 69.93
173 [Efs  |BU8-ifi2 (L&) |15 hEREs | 4 | 69.78
174 [Ef s |B8-ifi2 (L) |15 AR | 2o | 69.33
175 |5ef1%  |BU8-Kfi2 (&) |15 % | 2o | 66.45
176 [Efs  |B8-ifi2 (L) |15 Brbmgr | 2o | 65.37
177 RS |B8-kifi2 (L&) |15 LR | | 64.97
178 e |BU8-ifi2 (L&) |15 MaEdE | | 64.74
179 |Zef1%  |BU8-Kfi2 (L&) |15 Bl % | 64.45
180 [cEfE  |HAfU8-kifi2 (L) |15 T % | 63.98
181 [Efg  |HAfU8-kifi2 (L) |15 XY | 2 | 63.81
182 |ZEf1Z  |HW8-fi2 (L&) |15 ZREE | L | 63.55
183 |ZEMZ  |BUN8-Kifi2 (L) |15 BHBE [ % | 62.35
184 |5kf1%  |BAfi8-fi2 (L&) |15 FWE | & | 62.15
185 |igdt=k Z |WALZ9-RKifil (53) |16 WA B 86.7
186 |tk 2 |HRAI9-Rf71 () |16 ik fek 5 | 85.79
187 |igdt=k Z |WAL9-Kifi1 (53) |16 TR % | 84.87
188 |Mgdbk 2 [HAA9-ifi1 (9)) |16 skaER [ 55 | 81.29
189 |igdt=k Z |WAL9-Kifil (53) |16 T B 77.26
190 |igdb=k Z |WAGZ9-Rifi1 (53) |16 ZEMEME | Y5 | 68.35
191 ek 2 |BRAZ9-Raf71 () |16 Epeir | % | 68.29
192 [igdbk 2 |B9-ihi1 (55) |16 5K %ol 67.8
193 |igdt=k Z | 9-Rifi1 (55) |16 a00% | Y | 67.04
194 bk 2 |HAL7 9B 1 (55) |16 kB | B | 66.02
195  [dbsk 2 |HAL7 9Bl (55) |16 Kol | B | 65.61
196 |igdb=k Z | 9-Rifil (55) |16 Xk Bl 64.8
197 |igdbk 2 | 9-Rifi1 (55) |16 XEZ5 | 9 | 64.78




198 gtk 2 [HAA9-KAL1 (53) |16 W E B | 64.46
199 bk 2 | 9471 () |16 KEW| B | 64.22
200 |igdesk 2 |BAI ORI (59D |16 RigE | 5 | 63.32
201 [ifgdbsk 2 | 9-ifr2 (L) |17 s | | 87.62
202 |igdesk & | BN 9-Rf2 (22D |17 g & | 87.37
203 |igdek & | BN 9-Rfr2 () |17 AR % | 86.95
204 [igdbsk 2 |WALT9-ifr2 (L) [17 T % | 86.53
205 [igdbk 2 | 9-fr2 (L) (17 A TF % | 85.95
206 |k 2 |HRAL9-ifr2 (o) |17 R | 4o | 83.7
207 [igdbsk 2 | 9-fr2 (L) |17 fEEE | % | 83.36
208  [igdbk 2 |WU9-hr2 (o) [17 TR | L | 79.66
209 |igdesk & | B 9-Rfr2 (22D |17 ik BE & | 78.67
210 [igdbk 2 | 9-fr2 (L) |17 iy % | 76.57
211 [ifgdbsk 2 | 9- A2 (L) |17 R AC & | 74.45
212 [ifgdbk 2 | 9-fr2 (L) |17 HEE | & | 74.24
213 [ifgdbk 2 | 9- A2 (L) |17 K5 % | 74.07
214 [gdEsk 2 |BRAR9-Bafi2 (o) |17 wedr | | 73.4
215 |igdesk & | B 9-Rfr2 (%) |17 KA | X 73

216 [igdbk 2 | 9-A2 (L) |17 i % | 72.93
217 bk 2 | 9-Ar2 (L) |17 fE % | 70.96
218 |igdek 2 | B 9-Rfr2 (&) |17 sRCE | 2 | 70.77
219 [ifgdbk 2 | 9-fr2 (L) |17 1Bk | 4 | 70.58
220 Mgtk 2 |BRAI9-Rafi2 (L) |17 TN | 4 | 68.51
221 [k B 10-ifi1 (55)[18 FrutEe | 5 | 84.37
222 [k W 10-ifi1 (55)[18 EEEE | 5 | 82.45
223 |ikz  |WAAL10-Rif7 1 (53))18 i 5| 82.37
224 i3k z |RAAL10-Rf71 (53))18 K B 77.63
225 |ikz  |RAAL10-Rif71 (53))18 IR Y| 7714
226 |iskz  |WAAL10-Rif7 1 (53))18 XIRRdE | Y5 | 73.05
227 |k z  |RAAL10-Rif71 (53))18 KA | Y| 72.99
228 k% [HAAZ10-R421 (53)[18 FwmE|l B | 68.79
229 |k z  |WAAL10-RifE 1 (53))18 I % | 67.03
230 |iskz |RAAL10-RfE1 (53))18 hERL| Y | 66.36
231 |imskz [HRAZ10-R421 (53)[18 SR | B | 65.21
232 |ikz  |WAAL10-Rif7 1 (55))18 el | 95 | 64.06
233 |ikz  |WAAL10-Rf71 (53))18 FRE| Y | 63.49
234 |3k |BRAL10-RIfE1T (53|18 gem=s | 5| 63.22
235 k% [HRAZ10-R421 (53)[18 wEw | B | 61.79
236 |imskZ [HRAZ10-RA21 (53)[18 WHENE | B | 60.77
237 |k z |AL10-Rif72 (L0))19 UEE % | 83.12




238 |imk%  |WRAAL10-Rf72 (£0)|19 BR[| & | 82.29
239 [Wkz WU 10-ifi2 (Z0O[19 FIWJE [ 2 | 80.65
240 [k WU 10-if72 (Z0O[19 EIZE | Lo | 71.74
241 |3k |HRAL10-Rf2 (40|19 2ot | 2| 71.53
242 ik |RAAL10-Rf72 (£0)|19 RMES | L | 7113
243 [k WU 10672 (Z0O[19 X1 3 % | 70.58
244 sk z | 10672 (20O[19 XA | & | 69.6
245 [k |7 10-if72 (20O[19 XS | % | 69.48
246 [k | 10-if72 (20O[19 U % | 68.86
247 [k U102 (20O[19 FH % % | 68.56
248 [k WU 10-ifi2 (20O[19 sRAEEE [ 2 | 67.38
249 [k |7 10-if72 (20O[19 ZHE | & | 66.93
250 [wkz WU 10-ifi2 (0O[19 BAEL % | 65.04
251 [BRED  |BUT11-A1 (55)[20 XIEZ | Y | 83.04
252 [BREL |BUT11-KA1 (55)[20 XA | Y5 | 75.95
253 (BB |BMAr11-RAIL (55O[20 MRk | 95 | 72.84
254 [ERED  |BUTLI1-KA1 (55)[20 PRI 5| 69.71
255 [BREL  |BUTLI1-KA1 (55)[20 xEA | % | 69.16
256 [BEE  |BUTLI1-KAL (55)[20 XIZENN | 55 | 69.02
257 | BRET |G- (59))20 EEIL| Y | 69.02
258 [BREL  |BUTLI1-RKA1 (55)[20 EEvAs 5 | 68.13
259 [EBEMs  |BRA11-RAZL (5520 R B ol 67.81
260 [ER=ED  |BUTLII-KAL (55)[20 JABE 5 | 66.44
261 | EBRET |G- (59))20 WirlIE | % | 65.85
262 [BREB  |BAII-RAIT CHEDO[20 BR[| 5 | 65.22
263 | EBRET |ALI-RAZT (59))20 KEM | Y | 65.03
264 | FBRET ALK (59))20 ot | Y | 63.45
265 [ERE |BUTLI1-KAL (55)[20 el | 5 | 63.28
266 [FEE WU LI-RKAD (53)[20 L 3| 63.21
267 [FEE |WUTII-RKA2 (Z0f21 FHST | | 82.7
268 | AT |AAII-RKf72 (20|21 XERG | 2o | 81.73
269 (BB |BUTII-KA2 (Zof21 s & | 81.04
270 | BRET |AII-Kf72 (20|21 XIJi% | 76.1
271 | EBRET ALK 2 (20|21 208 & | 75.98
272 | BB WL 2 (L0)21 SeAl | L | 7479
273 | BB |- 2 (20|21 Giva & | 74.6
274 | BB |DNLI-Rf2 (20)21 AT & | 74.46
275 | EBREL |BNII-Rf2 (L0)21 g H & | 73.36
276 | BB |12 (L0)21 Byl | 2 | 73.02
277 | BB |- 2 (L0)21 BRI | 2| 72.68




278 [BREL |BUT11-K62 (Zof21 SEPa & | 71.84
279 |FB|RE |12 (Z0))21 Ak | 4 | 71.21
280 |BREEH W12 ()21 xelefl | 2 | 70.41
281 | B AR 2 (Z0))21 XI55 | Zc | 69.85
282 [BREL |BUT11-Kf72 (Zof21 XIGEWE | 2 | 69.47
283 |E|REE |- 2 (Z0))21 e % | 69.33




